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Note : Attempt all questions.

Q.1 Fill'in the blanks. (10)
(1) The Panchayati Raj was begun in India in the year
(1947, 1959, 1961)
(2) is the resisting factor of community development.
(Co-operative aptitude, absence of co-operative, absence of rain)
(3) The rural joint family result in the nuclear family due to
(Westernization, Socialization, Indusrialization)
(4) The production has increased as a result of Green Revolution.
(agricultural, milk, industrial)
(5) Due to migration the number of class of the rural community
declines. (dependent, productive, wealthy)
(6) The farm labourers are by the landlords.
(Protected, nurtured, exploited)
(7) The rural economy depends upen
(rushi, krushi, Pashu-Palan)
(8) The type of Unemployment is found in the rural society.
(Permanent, Seasonal, Voluntary)
(9) Dueto the number of agricultural labourers increases.
(electricity, urbanisation, the division of Agricultural land)
(10) The condition of is more Pathetic.
(Marginalised farmers, big farmers, businessmen)

Q.2 Define unemployment. Discuses the reasons, results and remedies of the (15)
rural unemployment.
OR
Q.2 Explain the importance of Social factors in the process of the development
of rural India.

Q.3 Give a brief history of Panchayati Raj in India and explain its effects on the (15)
rural society.
OR
Q.3 Define the community Development scheme and show its aims. Explain in
detail the community Development scheme.

Q.4 Define migration and show its types. Explain in detail the rural migration. (15)
OR
Q.4 What is co-operative activity ? What is rural development ? Explain the rural
development done through co-operative activity.

Q.5 Define movement. Discuss in detail various farmer-movements in India. (15)
OR
Q.5 Write short-note.
(1) Landless labourers (2) The effect of globalization on the rural social structure.
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